20174F08H20H (H) 1/ 2

>
=F

BT —A1 B 5 (N T 1)
Sy A =27 (90.0)
1= S ERR T e= SRR a=

Bz K 4 0 1 G | HC | NET =¥ va K 4 0 1 G HC NET =¥ va K 4 0|1 G | HC = NET Bz K 4 0 I G | HC = NET
1 fhEER 38 37 75| 7.0] 68.0 36/ {4 HI& 45 44 89 10.0 79.0 71 5 BT 43| 46 89 4.0| 85.0
AR i 34 38 721 0.0] 72.0 37| K Fn 41 44 85 5.0 80.0 72 T HAREZE 42 47 89 4.0| 85.0
3 PR 4240 82/10.0 72.0 38| A SR 40 46 86 6.0 80.0 73] H R 46| 45 91| 6.0 85.0
4 itk 35 40 75 2.0| 73.0 39 KA 42| 46 88 8.0 80.0 74 IR 47| 44 91 6.0| 85.0
5 FHIE 36 41 77 4.0 73.0 40| EEE L 40 48 88 8.0 80.0 75 MAARFE L 48| 44 92| 7.0 85.0
6 BT 40 42 82 9.0 73.0 41 HA 2 47 44 91 11.0 80.0 76 HiEE 46 47 93| 8.0 85.0
7 NRFIAE 43 43 86 13.0| 73.0 42| WG 46 46 92 12.0 80.0 77T g E] 45 49 94 9.0| 85.0
8 FEAHIFT 39 39 78 4.0 74.0 43| N2 43 42 85 4.0 81.0 78 K HBER 50| 44 94| 9.0 85.0
9 FEAHE 42 42 8410.0| 74.0 44) = H— 45 44 89 8.0 81.0 79 76 I ACHE 46 49 9510.0| 85.0
10 #hHEE 43 42 85 11.0| 74.0 45| I 75 B 45 45 90 9.0 81.0 80 Hrit-i— 47| 48 95/10.0| 85.0
11 it -+ 43 43 86/12.0 74.0 46) K H 2L 45 45 90 9.0 81.0 81 fif] FH 7 o 46| 49 95/10.0 85.0
12 tR¥FIES 42 38 80 4.0| 76.0 47\ VTR E 46 44 90 9.0 81.0 82 HHTFE T KB 53 43 96 11.0| 85.0
13 f LR 37 44 81 5.0| 76.0 48| K B 4T 75 45 47 92 11.0 81.0 83 ZHIR 49| 47 96/11.0| 85.0
14 4 7 FE tr 44 40 84 8.0| 76.0 49| W 5T 42 51 93 12.0 81.0 84 EHif: 44 A7 91 5.0| 86.0
15 A 5B 39 45 84| 8.0 76.0 50 FE kb2 ft 39 45 84 2.0 82.0 85 =4tz 47 47 94| 8.0 86.0
16 bJFHE—RS 41 43 84| 8.0| 76.0 51) 3 IIHER 44 41 85 3.0 82.0 86/ 14 _F1FzE 50| 46 96/10.0| 86.0
17 %R 44 40 84| 8.0| 76.0 52| [EBF 46| 44 90 8.0 82.0 87 Al 51| 46 97/11.0| 86.0
18 W B 3% 43 43 86/10.0| 76.0 53 iy /% 44| 46 90 8.0 82.0 88 db75 Mt 49| 48 97 11.0| 86.0
19 KIEF 38 38 76/-1.0| 77.0 54 485k 47| 44 91 9.0 82.0 89 FEINIEAT 52 42 94| 7.0| 87.0
20 [l FFSE5L 41 42 83 6.0| 77.0 55| FREF HME 42 49 91 9.0 82.0 90 M E B 47| 50 97/10.0 87.0
21 BrAF5 4t 41 42 83 6.0 77.0 56| B 47 47 94 12.0 82.0 91 /NN 51| 47 98 11.0| 87.0
22 BEHFER 41 43 84| 7.0| 77.0 57 ZRHHAE 49 46 95 13.0 82.0 92| S 53| 47 100/13.0| 87.0
23 11| 3 41 43 84| 7.0| 77.0 58 WA IE 43 42 85 2.0 83.0 93 HEIL 47| 49 96 8.0 88.0
24 R REA 43 42 85 8.0| 77.0 59 KR &% 46 44 90 7.0 83.0 94 KAIE#% 47 50 97 9.0| 88.0
25 A PRET] 41 45 86 9.0 77.0 60| JREFFI].2 48 43 91 8.0 83.0 95 X H A= 54| 48 102 13.0| 89.0
26 JEKFE 42 44 86 9.0| 77.0 61 Wiz A 45| 49 94 11.0 83.0 96 [H A% 47| 53 100/10.0| 90.0
27 BEzA 39 40 79 1.0 78.0 62| 1LATER] 43 51 94 11.0 83.0 97 A 1l 51 49 100/10.0| 90.0
28 M PR 38 43 81| 3.0 78.0 63| - 51 43 94 11.0 83.0 98 ALfE R 50| 49 99| 8.0 91.0
29 KEH A 44 39 83 5.0] 78.0 64 )IIE% 46 50 96 13.0 83.0 99 th FH AE 2 49 49 98 6.0] 92.0
30 JLiEAEZ 43 44 87/ 9.0 78.0 65 IAAE 42 44 86 2.0 84.0 100 P HFHZ 52| 52 104 12.0| 92.0
31 SFHATE 45 43 88/10.0| 78.0 66 7 O F = 44 48 92 8.0 84.0 101 +4 H Rl s 52 53 10513.0| 92.0
32 sEIB K 43 42 85 6.0| 79.0 67 [ ) 45| 47 92 8.0 84.0 102 /NEF5E 50 53 103/10.0| 93.0
33 g E— 44 44 88 9.0 79.0 68 74 B2 43| 49 92 8.0 84.0 103 EFIERE 52| 54 10612.0| 94.0
34 fRHERE 41 47 88 9.0] 79.0 69 HAE = 48 46 94 10.0 84.0 104 faA— 5 50| 59 109 13.0| 96.0
35 H K 45 44 89/10.0| 79.0 70 BT RAE 45, 52 97 13.0 84.0




20174F08H20H (H) 2 / 2

>
<F

BT —A1 B 5 (N T 1)
Sy A =27 (90.0)
1= S ERR T e= SRR a=

W % 4 o0 ¢ Hc NET MR 4 0 1 ¢ HC NET | N K & 0 1 ¢ Hc NeT WA K 4 0 1 G HC | T




